Math 232 Calculus 2 Spring 25 Midterm 2b Part 1 of 2

Soluhions

Name:

e | will count your best 8 of the following 10 questions from Parts 1 (Q1-5)

and Part 2 (Q6-10).
e You may use a calculator, and a US letter page of notes.
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(1) (10 points) Find /sin bz sin3z dx.
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(2) (10 points) Find /cosa:sian dx.
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(4) (10 points) Find / TG0 dz.
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(5) (10 points) Find/ e sin(z) dz.
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Sslunoas

Name:

e [ will count your best 8 of the following 10 questions from Parts 1 (Q1-5)
and Part 2 (Q6-10).
e You may use a calculator, and a US letter page of notes.
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(6) (10 points) Find the degree three Taylor polynomial for f(z) = In(1 + z°)
centered at z = 0, by any method.
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(7) Does the series g
n=2
exact value.
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(9) Does the series ; 5 Converge or diverge?
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a) Write down the power series for cos(z) centered at z = 0.

b) Use this to write down a power series for cos(1/x) centered at z = 0.
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Find the radius of convergence of this power series.
Explain why this method doesn’t work for sin(+/).
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